Michelman Excerpt:  Reading Comprehension Self-Quiz

Correct Answers, Comments & Explanations

Correct answers in bold type; Prof’s comments & explanations in Italics.

(1) As Michelman defines the term, all of the following are part of “Demoralization Costs” except:

(a) The value of the unhappiness incurred by “losers” because the state is not compensating them. This is from the phrase listed as (1).
(b) The value of harm that will occur because “losers” and “sympathizers” may invest less in the future because the state failed to compensate the “losers.”  This is what he means by “impaired incentives” in the phrase listed as (2).
(c)  The value of social unrest that may occur because the state failed to compensate the “losers.”  This is from the phrase listed as (2).
(d) The value of unhappiness incurred by people who believe that the state, when it adopted the measure in question, incorrectly balanced the costs and benefits to society.  In this passage, demoralization costs refers only to those costs that occur due to failure to compensate, not those that occur because people dislike the measure for other reasons.
(2) As Michelman defines the term, all of the following are part of “Settlement Costs” except:

(a) The compensation that would be paid to the “losers” to avoid demoralization costs. This is what is at the heart of the “compensation settlements” he discusses.
(b) The costs of overcoming ordinary government inertia to enact the measure in question.  This idea comes from Demsetz’s first thesis, but is not part of Michelman’s work here.
(c) The cost of determining which landowners would be entitled to compensation to avoid demoralization costs.  This is part of “the time, effort, and resources which would be required in order to reach compensation settlements….” 
(d) The cost of determining the value of the individual settlements with each landowner who required compensation to avoid demoralization costs. Same as (c). 
(3) Which of the statements below correctly characterizes the following quote from Michelman’s article (last full sentence on the bottom of p.134): 

But felicific calculation under the definition given for efficiency gains is imperfect because it takes no account of demoralization costs caused by a capricious redistribution, or alternatively, of the settlement costs necessary to avoid such demoralization costs.  

(a) In the quote, he uses “felicific calculation,” to mean the determination of net social happiness or utility.  I think this is pretty clear from context, but you could look it up!
(b) In the quote, he is saying that the definition of “efficiency gains” he identified in the prior paragraph is incorrect because it doesn’t incorporate “demoralization costs.” What he says is “imperfect” is not the definition, but a utility calculus that doesn’t take into account settlement or demoralization costs. 
(c) In the quote, he is saying that he believes that it is necessary for the state to pay “settlement costs” to avoid “demoralization costs caused by a capricious redistribution.” Only if the settlement costs are less than the demoralization costs.

(d) All of the above.

(4)  The last two sentences in the block quote on the top of p.135 initially appear to be inconsistent with each other.  How might Michelman explain why they are not?

(a) He is arguing that compensation is due only when efficiency gains exceed both demoralization costs and settlement costs.

(b) He is arguing that compensation is due only when both demoralization costs and efficiency gains exceed settlement costs.

(c) The second of the two sentences only addresses when compensation should be paid, not whether the government regulation should have been adopted in the first place.  The first sentence says that, if both settlement and demoralization costs exceed efficiency gains, the measure never should have been adopted at all. The second sentence explicitly only addresses “the issue of compensability,” not the desirability of the underlying regulation.

(d) None of the above.

